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CDS Exam(ll}:2016

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0

T.B.C. : SDC-S5-TRD Test Booklet Series

s, | TEST BOOKLET

ELEMENTARY MATHEMATICS

Time Allowed : Two Ioirs Maximum Marks ; 100

LE

INSTRIICTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DPOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF 50, GET IT REPLACED BY A COMFPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alonpside. DO NOT
writc anything else on the Test Booklel,

This Test Booklet contains 100 items {questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet, In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case. choose ONLY ONE response for each ifem.
You have to mark all your responses ONLY on the separale Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Hefare you proceed to mark in the Answer Sheet the response Lo various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate,

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator enly the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each guestion for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST ROOKLET UNTIL YOU ARE TOLD T0O DO SO
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1. What is the solution of

T
1.:-31{1"{1—(1—:;1) } ] =17
(a) x= 100
(b) x=10
c) x=1
(d) x=0

2. If A1s an integer and o, J are the roots
of 4.x2—16x+%=ﬂ such that | <=2

and 2 < <3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
@ 15

6" +7° +8* +9% +10°
NT+4\3 =44 4243

3. What 15 equal

o ?

(a} 330
(b) 340
(c) 355
(d) 366

4. If x’=y+z y'=z+x and Z=x+y,
then what 15 the value of

1 l 1

;Il:+l }'_1:+1+:-:+1 ¥

(a) -1

(b) 1

(c) 2

(d 4
SDC-S-TRD - A

5. What would be the maximum value of Q

in the eguation
SPO-3RT+208=11147

{a) 9
(b) 8
tel 5
(d) 4

. A is a set of positive integers such that
when divided by 2, 3, 4, 5 and 6 leaves

the remainder 1,2,3,4 and 5 respec-
tively,. How many inlegers between
0 and 100 belong to the set 4 ?

(a) Mo integer
(b} One
(c) Two
{d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by ¥ and got the
answer 2016 more than the correct
answer, Whatl was the number 7

(a) 252
(b) 256
(c) 258
(d) 260

. In the quadratic equation x>+ ax+h =0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of a and b are possible in order that the
quadratic equation has real roots ?

(@) 6
(b) 7
(c) 8
(@ 16
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1. Ingm{l—{l—{l—xz)_r}»—J] g

BT ?
(a) x=100
b) x=10
{c) x=1
@ x=0

LA A wwh iE R R, f el
4x2—lﬁx+%=[} % e w0 war § fr
l=a<23R2<p <38 AT Fadwm
oo € ?

(a) 3

) 9

(c) 14

@ 15

62 +72 +8% +9% +107
©J7+43 —y4+243
(a) 330
(b) 340
(c) 355
d 366

fored R & 7

3 ?Iﬁ _xz=_],r+z__],’2='+x 3T 22=J:+_}=%,
1 1 1
+ +—— T A R ?
x+1 y+1 z+l

(a) -1
() 1
(¢) 2
(d) 4
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5. TEEE SPO + 3RT + 208 = 1114% Q

srftrRas W AT B0 7
(a) O

(b) 8
{c) 5
(d) 4

. A T AT quilet, W1 2,3,4, 53R 6/

frafom & w9 w @ 1, 2, 3, 4

A 5 fwwe g €, F0F T E |
WA A # 0 F 100 F =4 % A gl

i ?

(a) g iR e
) T

© =

@

. et wien #, o i & o fifvea

wem &1 84 famfem o & fort gt 7 |
et & g s At 8 o = i s
FoR HE I @ 2016 wfies ww e | 9w
T T 497 7

(a) 252

(b) 256

(c) 258

d) 260

. T oot P2+ ax+ b=0H g 3K b,

weay {1, 2,3, 4) @ forett ot w =t |
wFa & | o ¥R b ¥ AH F U FRR SR
v & fomes forg fyeme e & 9@
et 8 ¢

(@) 6

(b) 7

(c) 8

(d 16

A - SDC-5-TRD
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9. The sum of the squares of two posilive
integers is 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers 7

(a) 2
® 3
(c) 4
d) o

10. Let 4 = {7, 8, 9, 10, 11, 12} and
B={7, 10, 14, 15}. What is the number
of elements in (d-8) and (B—-4A)

respectively ?
{(a) 2 and 4
(b) 4 and 2
(c) 2and2
(d) 4 and 4
11. A boy saves Rs. 4-65 daily. What 1s the

least number of days in which he will be
able to save an exact number of rupees ?

(a) 10
(h) 20
(c) 21
(dy 25
12. Two men, 4 and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how ofien does the
winner pass the other 7

{a) Once
{b) Twice
{c) 'Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion 7
15

1600

23

8

E

50
<17

6

(H.}
(b)
()

(d)

If @ and # are the two zeros of the
polynomial 252 — 15x + 2, then what is
a quadratic polynomial whose zeros are
(2" and (287 ?

(a) x*+30x+2
(b) 8x* —30x+25
(c) 8" —30x

(d) x*+30x

What is the remainder when 2'™ is
divided by 101 ?

(a) 1
(b) 11
(c) 99
(d) 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the marmried women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(a) 1:2
by 2:1
{c) 3:1
(d) 1:3
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9.

10.

12.

T TR oI o A T A 208 |
af T T T BE T W 18T €,
Tt &t afft ST Tt & s | @ 7
(a) 2
(b) 3
(c) 4
@ 6

A T A4 = {7, 8,9, 10, 11, 12} 3R
B={7,10,14,15} 2 | (A B) 3K (B~ A)
7t sraEt i de wha R v

(a) 23R4
(b) 43R2
€ 23Rk2
(d) 4 a4

T Wewl Wiafed 4.65%. =TT § | AT
a8 Aa Hed #141 w9, fAd 2w g
Tt &t T == T '

{a) 10

() 20

(¢} 21

() 25

3 ArEd, 43 BUS 0-25 km & TR
Tq T/ 4 km S 5E @4 & | 7 s
TRIR T 5774 5 : 43, T Sta = g
A ol = i Fraean @ 7

(a) TH TR

(b) F AR

(¢) i =R

(d) ¥R =R

5

13.

frefrfa & & =t wfdm den
FATEHT 3R YA SYEEd HIE 4l

. -% ?
® o
® =
© =
@

14.

15.

16.

aft 75U 255 — 15x + 2F 51 FF a IR
p €, o =% fimma agos w2 fres
I (2a) AR (25)7 & 7

(a) ¥ +30x+2

b) &x*-30x+25

(c) 8x' —30x

(d x*+30x

W& 2'% &t 101 % e f s, <
S T B 7

) 1

by 11

(c) 99

(d 100

U HifrE §, Uk ot swHE afead €,
wiiemalt # & amft wferd frarfa £ o
Frafem wfeena 4 4 va-foerd afewet &
w=1 & | gfg quut # @ F-<aE gEw

fefea & ok wm-foer franfem oot &
== @, o1 Pt wfena =1 fefia
qeyl & HIY F1 AL @ 7
(a) 1:2
(b) 2:1
(c) 3:1
Wy 1:3
A - SDC-5-TRD
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17.

18.

j Lt

A can do 50% morc work than B in the
same time. B alone can do a piece of
work in 30 hours. 8 starts working and
had already worked for 12 hours when
A joinzg him. How many hours should
B and A work together o complete the
remaining work 7

(a) 6 hours

{(b) 12 hours

{c) 48 hours

(d) 7-2 hours

When the speed of a train 15 increased by

20%%, it takes 20 minutes less to cover
the same distance. What i1s the time

taken to cover the same distance with .

the orniginal speed ?
(a) 140 minutes
{b) 120 minutes
(c) 100 minﬁtes

(d) B0 minutes

A candidate scoring x% marks mn an
examination fails by & marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@ 100(a +.5)
o
100(a - b)
=
© 1{}0@ JF_E’]
b
@ 100a@-b)
i
SDC-5-TRD - A

20.

21.

22.

If p and q are the roots of X'+ px + g =0,
then which one of the following is
correct 7

(a) p=0orl

{(b) p=1 only

c) p=-2o0r0

(d) p=-2 only

The cost of 2-5 kg rice is Rs. 125. The

cost of 9 kg rice is equal to that of 4 kg
pulses. The cosat of 14 kg pulses i3 equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ?

(a) Rs. 2310
(b) Rs. 3190
(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in
respect of the number 1729 7

(a) It cannot be written as the sum of
the cubes of two positive intsgers

{(b) It can be wrtien as the sum of the
cubes of two positive integers in
one way only

(c) Tt can be written as the sum of the
cubes of two positive integers in
two ways only

{d) It can be written as the sum of the
cubes of two positive integers n
three ways only
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17.

18.

19.

e I BAG H A, B T 50% 3ifer e

AT B | B Al U W R 30 W H Y
o FFA 2 | B & E a2, 3R I6F

12 92 7% = %% 71 F 95 A 366 719
firere. i @t el @ | 5 gn = w
u e & fo 4 o B fera w2 Frere
& FA 7

(a) 6 H

(L) 12 =

(c) 48 =

(d) 72 %

et ek LISl 1 9T 20% At &, A 7w
T T A H 20 fire 5 et @
Iy aretad e @ S G g A A
=04 # feraen wHm = 7

(a) 140 fimz

(b) 120 Pz

() 100 e

(d) 80 iz

Tt witen 7 v Awmdl 1% 3 WIH HAT

2 3R o 31 F T B AT ®, SAH qI
el =Y % 3T W FAT 9 e
ATETIF I AF G b IF AfE WIH gl
# | witsm & Afteaw @ wam E 7
100{a +b)

=y
100(a —b)

x+y

(2)

(b)

100(a +b)
y=x
100(a - b)

=y

(c)

(@

7

20, 1% P+ prtg=0 % 54 p 3R g &, A

21.

21,

freaferfire i & 1 o U W 2 7
(@) p=0FEET |

(b) Feet p= |

(c) p=-234941 0

(d) Fae p=-2

2-5 kg =T 1 FRT 125%, 2 | 9kg FTEH
&t diwd 4 kg T T o F w2
14 kg BT &1 FIHT 1-5 kg T ST 9t &
FCEL | 2 kg A4 &I =1 T HmEd Skg
7 (Fier %) F T 8 | 11 kg 72 !
e w4 @ ?

(a) % 2310
(b) #3190
(¢) & 4070

(d) % 4620

wE 1729 % Haw ® Frafafas & @
@I BT U FUT e 7

(a) A S AT U] & I Ak
w9 ¥ 7El fora = oA 2

T B AT qUiET F 5T o 4R
w=y 1 e v B uwr @ fear
THAT B

2l 1 GTer IO A & A
=1 § Fae of ¥R 9 o 5 gwan
g

T B HATeH Tl o T 6 AN
w0 # Fad i wer o foran 31w
2

(b)

(c)

(d)

A - SDC-S-TRD

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

23. A shopkeeper increases the cost price of

24,

an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain 7

(a) 15%

(b) 12%

(c) 10%

(d) &%

There are two numbers p and g such that
their LICT is 1. Which of the following
statements are correct ?

I. Both p and g may be prime.

2.. One number may be prime and the
nther composite.

3. Both the numbers may be com-
posite,

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2and3

. What 1z

S
Jl+—2=+—1 +\’1+L2+iz+ av &
1 2 2 5

1 1

" 0072 " an0g7 cduel to?

(a) 2008——_

(b) 2007-——
2

(c) 2007 - L

(dy 2008———
2009

SDC-5-TRD - A

26.

27.

28.

A person can row downstream 20 ki m
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 km/hayr
(b} 2-5 km/hour
(¢) 2 km/hour
{d} 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :

. x* +9* is even integer.
2. ¥+ is divisible by 4.

Which of the above statemenis 1s/are
correet ?

(a} 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither | nor 2

What are the roots of the equation

I

22 075 T 29 9

3\
(a) 2, l—Eug[EJ

A

B 2,1- IﬂgL%J

log 3\!.
log2 )

€ 2,1 [

(d) 2,1 _.[’@,gi]

| log3
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23.

24.

25.

U GHFGR U A w5 # 20%
i wea © At sueh sifesa =1 10% Hi
ez oA & | TR wferd e e 7
(8) 15%

(b) 12%

() 10%

(d) 8%

A p3ﬁT g T UHE & fon
T1ICF, 1 2 | frefefa & & 9 @ 0
T 2 v

1. p il g TFT Iaa 2w @

2. T WA A T g W §
TRl

3. T FEATd W B wedl

4 foi @ e W oW W TR I
3 ;

(a) e | 4K 2
(b) w2 R 3
(c) Faa 1 3k 3
(d 1,2 313

L8 .3 ’ W -
Tt [
LR
1 1
o
2007 2008

1
2008 - ——
@) 2008

Crac oA

|
2007 =t
® 2007

© 2007-—1_
2008

1
dy 2008—=—-—r
@ 2009

26. UF I URT % E (FAEATE) 2 9 H

27.

20 km 79 Gar & 3T awr & wfoge 2 62
A 4km 7= Gar # | aRTF AT TR 7

[Q] 2 km /=T

(b) 25 km/=er

(¢) 3 km/9T

(d) 4 km/¥e

g fawm gt x s p F fog
Tepmferfiam @t gx famme hifor

L %+ 3* T it &
2. P+ 4@ s

g wat # ° W /R e g/

28.

() F 1

(b) T2

(c) 13 2eH
() TaLAE2

.
wler 2542, 2751 =9 F YT W E 7

@ 2, 1—102{%}
® 2,1- .fagE]

©) -2 l_ffﬂg?h]
" \leg2

@ -21- !ngl]
| log3

A - SDC-5-TRD
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29,

30.

31.

3.

There are twelve friends A, B, C, D, £,
F, G H I J K and L who invested
maoney in some business in the ratio of
23S e g fageaa o b 12
and the duration for which they invested
the money 15 in the ratio of
2 R 3 T o S B RO T B 8 W R
respectively. Who will get the maximum
profit at the end of the year?

{a) F only

(b} © only

(c) Both F and G

(d) Neither F nor

2124 4% 482 4 4% 421 5 divisible
by which one of the following integers ?
(a) 3

(b) S

{e) 7

(d)y 11

If2p+3q =12 and 4p” + dpg — 3% = 126,
then what is the value of p+24 ?

(a) 5
ﬂ
4
2_5
4

99
16

&)
()
(d)

The number of digits in 3" is » and it i
given that log,, 3 = 0-4771. What is the
value of n ?

(a) 13
(b) 14
(&1 13
(d) 16

SDC-S-TRD - A

10

33.

34.

35,

36.

What is the unit digit of 7°°?
(a) 9
by 7
{c) 6
(d) 3

If 4x+ 3a =0, tfhen. what is the value of

1&'2+ﬂx+£{: xz-dx+a2

13—33 Ij+|’13

4

Ja

7

(a)

()

12

7a
24
Ta

(c)
()

Incomes of Mahesh and Kamal are in
the ratio 1: 2 and their expenses are in
the ratio 1:3. Which onc of the
following statements is correct ?

(a) Mahesh saves more than
K.amal saves

Savings of both of them are equal

Kamal saves more than what
Mahesh saves

It is not possible o determine who
SdVES mMore

what

(b)
(c)

(d)

A and Y entered into partnership with
Rs. 700 and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs, 726, How much of
this should X receive ? '

(a) Rs. 336

(b) Rs. 366

(t) Rs. 633

(d) Rs. 663
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19,

-30.

31.

- (e)

32.

ABCDEFGHIJEAL
ane i 2, Pl Bt smaw & e
1:2:3:4:5:6:?:5:9:1{}:11:12%
s fa wen ot fo arafin & R
T T SHe] AqaTd 12:11:10:9: 8¢
7:6:5:4:3:2:1 21 F3TH
sttt @me ford ww BRm 7

(a) &&= F

(b) Had G

(¢) Tl F 3N G

@ AMFAHG

21224 452 4 g¥ 4 g5 4 2" Frfrflaa W A
forr orfer & feorwmo 2 2

(a) 3

b >

() 7

@ 11

afz 2p+3g=123R 4p’+ 4pg - 3¢° =126
g pryWAR TR ?
(a) 5

21
® -
25
4
99
@ 15
3% 3 sl 1 o T @ i ae foa 2
& log, 3 =04771 R I nFIAH FE 7
(a) 13
(b) 14
(c) 15
d 16

KN

34,

35.

36.

7V E R S R 7
(@) 9
by 7
(c) 6
(d) 3

?1'%4.r+3a=ﬂ%,?ﬁ

2 2

y) 2
X tax+t+a xo-axt+a”

: . - Ealeic
B Y g

T 7

4
(a) —%
)

(b)

_32
Ta

24

Ta

(c)
(d)

wew 3 Fe i o1 1:2 % A A

2, o oAF = 13 F e H €

freffm i A e S a gw adt 2 7

(a) Wes i F=d, FAA hf TS | A0
2

(b) =9 B T TR B

(c) = =it ==1a, wey & 797 ¥ A=
®

(d) @e ou = aua el g G T afu
99 FAT &

X #% ¥ &, 700 31 8. 600 & g
T BTEHGRT §F aXd & | dF Jée s X
s w2Te o 2/7 TereRrer v @ sl feemal
T WIE F 3/5 AR A 95 R @ S
TeATe | T A AW 7268 | T
# fopaen Y =1 freren sfen

(a) ® 336

(b) . 366

(c) & 633

(d) . 663

A — SDC-S5-TRD
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37. A tank can be filled by pipe X in 2 hours

38,

39.

40,

(d)

and pipe ¥ in 6 hours. At 10 a.m. pipe X
was opened. At what time will the tank
be filled if pipe ¥ is opened at 11 am. ?

(a)
(b)
(c)
(d)

12:45 hours
3:00 pomn.
11:45 a.m.

11:50 aamn,

A tram is travellmg at 48 km/'hour
completely crosses another train having
half its length and travelling in opposite
direction at 42 km/hour in 12 s. It also
passes a railway platform in 45 s, What
15 the length of the platform ?

(a) 600 m
(b} 400 m
(¢) 300 m
(d) 200 m

The speeds ol three cars are in the ratio
2:3:4. Whal 1s (he ratio between the
times taken by these cars to travel the
same distance ?

(a) 4:3:2
) 2:3:4
{c) 4:3:6
(d) 6:4:3
If the mean age of combined group of
boys and girls is 18 years and the mean
of age of boys is 20 and that of girls is

16, then what is the percentage of boys
m the group ?

(a}) 60
(b) 50
(c) 45
40

SDC-S-TRD — A

12

41.

42,

43.

44,

The area of [our walls of a room is
120 m’. The length of the room is twice
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m*

(b) 50 m’

(€) 60 m?

(d) 80 m’

If a square of side x and an equilateral
triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

:
® |3

.
® |z

(©) %

N2
(d) 3
The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1 : 2. If the total surface area
is 616 cm’, what is the volume of the
cylinder ?
(a) 539 ¢m’

. (b) 616 cm®

(c) 1078 em’
(d) 1232 ¢cm’

A cubic metre of copper weighing
9000 kg is rolled into a square bar 9 m
long. An exact cube is cut off from the
bar. How much does the cube weigh 7

(a) 1000 kg
1000
(b)

— kg
(c)

3
300 kg
(d)

S0
— k
3 B
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37

38.

39.

40.

uF 7, TRy XY F 2 A iR T v A
6 H% H S 9 A & | Ui 10 =t HTEg
X @ren | 7 e == w1 st afg
uTEg ¥ Wi 11 =9 glen A g 7

(a) 12:45 T9eT
(b) 5:00 HHIE
(c)" 11:45 Tl
(d) 11:50 T5TE

T LETEL T 48 km/ 521 F 5 TR B, 39T
e 1 st s i uw e =,
Prodia R # 42 km/921 § w9 @ 2,
125 # 9l e & TRt € | 98 O @
vetehTe # AT 45 5 H I | | wHewnt &
waTs feerit & 7 3

(a) 600m

(b) 400m

{c) 300m

(d) 200m

AR Rt T F ITE 2:3: 42 |
TFR TRT W FHE gLt ol i H w0 il
THA T I 4T E P

(a) 4:3:2

(b) 2:3:4

(c) 4:3:6

(d) 6:4:3

afe g oK wsfl & 64w wE H
w1 g 1899 # afte ot ooy W
H1eg 20 3R il o AT 167,
dtl aHe # el I wftemar = @ 7

(a) 60

(b) 50

Q) 45

(d) 40

13

41.

42.

43.

44,

U FHe TR G| 1 aEEd 120 m?
% | Y ol WS gt Higr Y gEi R
7f2 Ft it ST 4 m B, A Bl = ST
TR 7

(@) 40m’

) 50m°

(¢) 60m’

(d 80m’

af o x 1 0 W R g y WO
awag Frogr, us g9 3 avedfa 68 s g,
A x H oy H ST S 7

® 3

© :%-
N

=

ek T TR S o 95 98 SR AR g
W &he T I 1:2 ® | aft g e
EE9e 616 cm® &, A1 Sed &7 arEad ¥4
g7

(a) 539 cm’

(b) 616 cm’

(c) 1078 cm®

d) 1232cm’

I F UF uA e W, FEwr wom
9000 kg &, 9 m waTs i U TiER R
# Afee e W 2 | US B W W
Tl & H1e1 I € | T A A
@ ?

(a) 1000kg

® 5 ke

(€©) 300kg

(d) %'}kg

A — SDC-S-TRD
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45.

46.

47.

Into a conical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
196 m' ?

(a) 264
(b) 201
(c)
(d) 105

132

Let ABC be a right angled triangle with
BC=5c¢mand AC=12 cm. Let D be a
point on the hypotenuse A8 such that
ZBCD=130° What is length of CD 7

(a
() - om

120
5+12-2

€1

(c)

120
5+124/3

cm

(d)

Twa circles touch externally and sum of
their areas is 1307 em® and the distance
between their centres 15 14 cm, What is

the difference in the radii of the circles 7.

(a) 5 cm

(b} 6 cm

{c) 7 cm

(d) 8 cm

SDC-5-TRD - A
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48.

49,

50.

5].1.

In a circle of radius 2 units, a diameter
AR intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP?

(@) 3++/10;3-410
(b) 3++8:3-48
() 3+43:3-43
(d) 3:4/3

What is the number of rounds that a
wheel of diameter 3 m will make in
traversing 7 km 7

i
(a) 3300
(b) 3500
(c) 4400
(d) 4900

A building is in the form ol a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

conlains 6?% m’ of air What is the
height of the building ?

(a) 6m

(b) 4m

(c) 3m

(d) 2 m

The radius of the base and the height of
a solid right cireular cylinder are in the
ratin 2 : 3 and its volume is 1617 cm’.
What 15 the total surface area of the
cylinder ?

(a) 462 em’

(b) 616 cm’

(¢) 770 em’

(d) 786 cm’



Downloaded From: http://iasexamportal.com

45, T o e, e frem 84 m ai 48, 33T & B & uF 7w, = 4B,

FeATR TS 35 m, # T & frad Wl g 2 T W U ST R PR A Wi
89 @t R o v B, afe wedw A9 A Far e | afe AP>BP B, W AP H BPH
% % T4 1:96 m® =T it rEwEsdl € 7 AT FT R 7
(a) 264 (@) 3+4/10:3-10
) 201 (B 3++8:3-48
@ 132 (c) 3+~J’§:3-J§
(d 3:+/3
gy 108
49, I L I HEAT 1 E, T 2 m =
46, W Ny & o T B ABC ® = wfie 7 km F g T FwA % U
%l BC=5cm &K AC=12cms | A GRS
Ffer =l AR w2 s forg Do vER 2 T (a) 3300
ZBCD=30°% | COF Fa T8 ? (b) 3500
- (c) 4400
(a) l—ﬁ{_: cm _ {d) 4900
17 50, T TAA e & AL H IW AFK £ 5
Uy ~5-m ¥t % A W g W ww R |
R & FATE, Fe & ATe i e
& o A Tt B | A # 674 moEar # |
5+1242 eorro By et i e
120 (a) 6m '
@ sz (b) 4m
(c) 3m
47. Ft 3 7w ame: wdl A E ok o (d) Zm

el B AR 1307 om? #, SR I
el & s gl 14em B | TR H
Fromatt &1 s AR 7

51. TF 4 wageie do4 & anar $it frem
R ekl FATE W wIE 203§, R
THH AEEA 1617 cm’ & | Aol 1 e

(a) 5em TEE GTE T E 7
' 2
ﬂj] 6 cm (El.] 462 sz
(b) 6l6cm
(¢) 7em (c) 770 em’
(d) &cm (d) 786 cm’
15 A - SDC-S-TRD
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52,

54.

35.

The cost of painting a spherical vessel of
diameter 14 ¢m is Rs, 8008, What is the
cost of painting per sguare centimetre ?

(a) Rs.8
(b) Rs. 9
(e} Rs. 13
(d) Rs. 14

« II'a guadrilateral has an inscribed circle,

then the sum of a pair of opposite sides
eguals

(a)
(b)

Half the sum of the diagonals
Sum of the other pair of opposite
sides

(c)
(d)

Sum of two adjacent sides
None of the above
A circle and a square have the same

perimeter. Which one of the following is
correct 7

(a) Their areas are equal
{(b) The area of the circle is larger
g

{c) The area of the square is 5 times
area of circle

{(d) The area of the square is m times
area of circle

A drinking glass of height 24 em is in

the shape of frustum of a cone and
diameters of its hottom and top circular
ends are 4 cm and 18 em respectively, If
we take capacity of the glass as mx em’,
then what is the valuc of x 7

(a) 824
(b) 1236
) 1628
d) 2472

“SDC-S-TRD - A —
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56. In an  equilateral (nangle another

57.

59,

equilateral triangle 1s drawn inside
Joming the mid-points of the sides of
given equilateral iriangle and the
process 1s continued up to 7 times. What
is the ratio of area of fourth triangle to
that of seventh triangle ?

(a) 256 : 1
(h) 128 :1
{c) 04 :1
(dy 16:1

Ramm water from & rool 22m=x= 20m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m,
If the vessel iz just full, what is the
rainfall 7 :

{(a) 3-5ecm
(b} 3 em
(c) 2:5cm
(d) 2 cm

. The height of a cone is 60 ¢cm. A small

cone is cut off at the top by a plane
parallel to the base and its volume is
ﬁ the valume of original cone. What is

the height from the base at which the
section 1s made 7

(a)
(b)
(c)
(d)
If two tangents inclined at an angle 60°

are drawn lo a circle of radius 3 ¢m, then
what is the length of each tangent ?

()

(b)
(c)

(d)

15 cm
20 cm
30 cm
45 cm

31.,'5 cm

r=
2 3 cm
& cm

2*\.‘5 cIm
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31.

53.

54.

55.

14 co 29 % TF Meg 9T 97 FEmd
A 6l e €. 8008 B | wfer wf dede
el F fl ge g & 2

(a) % 8

(k)
(e)
()
afs o TS T o R, @
YETSAT o U I FATH ST

(a) Feevi % 0 =1 s

(b) LG STIAT K T T AN
(c) & 3T Tl 1 THTEA

(d) I F H HIE A

T F9 R UH F H T e #
frrmferfas & & & w1 0F W@ R

(a) TTF GFFA =T T
(b) o 1 Ee we

(c) aﬁmﬁﬂqﬂ,qﬁﬁs%ﬂwm%ﬂm

#
(d) = 1 &, g & EESe T I
#

g+ =1 U Fema foedht 391 24 cm 2 |
it 55 F foms & soR =1 8, =%
Fraet st st gemeR, fiRl w6 = e
4em 3R 18 cm® | 7y fireme s
nxcm"%.?ﬂ'xﬂ:‘fﬂ'l?l?m%?

(a) 824

®) 1236

(c) 1628

(d) 2472

T
.13
3

17

56.

s7.

58.

59.

u T P & sree, o v gmag
Toreget st el < weafarga =0 wiled wy
T oEe A=t s s g, s
vl 7 am & st & | N B %
gEel 1 s B & seEwd 8
AAEE 7
(a) 256:1
(b) 128 :1
(c) 64:1
(d) 16:1

22111!20:11@[%@?'&@‘3?[?!ﬁ'lm
W % AR UH 3-5m S9E 99 UH
AddrEr urE | firan & | o m aw -
o oW T R, A et et e 2 v

{a) 3-5cm

k) 3cm

{c) 2-5¢cm

{(d} 2cm

T o ST 60cm B | TE AR F
AT TF T § THeh 919 92 T DT 9
HTET AT B, R THHT HEEA TH 6F &
ST T & | TR T8 FATd R
@l TR e T g

(a)
(b)
(c)
(d)

afg 60° & =or w3 gl o el et
Eﬁicmﬁ@ﬁ_ﬁﬂﬁﬂ?ﬁﬂﬁﬁﬂ

TR =TT ®, o wedsn eqsf L@r i ward
TR F 3

15¢cm
20cm
A0 om
45 cm

(a) 33 em

) +3em

{c) 6cm

(d) 2-.,5 cm

A - SDC-5-TRD
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60. What is the volume of a sphere of racus n
(a)

dem ? xy
(a) 36mem’ ) ny

(b) 187 cm® e
(c) 9mcm (c) et

§ ¥

(d) 6mcm

@

61. The sides of a triangle are given by
a, b, ¢ are positive. What is the area of

I'or the next three (03) items that follow :

the triangle equal to 7 A tent of a circus is made of canvas and 1s in
' the form of right circular cylinder and right

slaZs B ey circular cone above 1it. The height and

(a) e : diameter of the cylindrical part of the tent are

5Sm and 126 m respectively. The total height
of the tent is 21 m.

\ﬂlalbz +hzc2 -+ (:P'ri“'a

b
) 2 64. What is the slant height of the cone 7
o 4o (a) 60m |
= R (b) 65m
' (c) 68 m

J3(a®? +B2* +c?a?)
2

(d)

(d) 70 m

65. What is the curved surface area of the
62. What is area of largest triangle inscribed cylinder ?
in a semi-circle of radius » units ?

(a) 1980 m*
(a) # square units (b) 2010 et
(b) 2+* square units (©) 2100 m*
(c) 3+ square units (d) 2240 m*

d it
(d) 4 square units 66. How many square metres of canvas are

used ?
63. The diameter of the front wheel of an
engine is 2x cm and that of rear wheel 1s (e} 14330
2y em. To cover the same distance, what (b) 14480
iz the number of umes the rear wheel
revolves when the front wheel revolves (c) 14380
n times ? (d) 14850

SDC-S-TRD - A 18
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60.

01.

33t B A uw e w5 s feeen
g7

(a) 367 cm’

(b) 187 cm’

(€} 9xcm’

(d) 6xem’

et frmr F et W Ve 47,

Ve +a* o (b + ) grr =uwn foar T
%,Hﬁfmb,cﬂﬂmﬁ Iﬁﬁﬁ‘ﬂﬂﬁ‘ﬂtﬁr

forees = 2 7
va* +b + o

(a) -

(b)

2

alb+c)

§

62.

03.

Va2 +b%C +%a?)
2

)

P r ardl & U Agaw F arnlq S0
T e =3 e w1 dAwe Fm g

(a) * =l Tl
(b) 2/ 3t STl
(c) 3¢ =it =TT
(d) 4 =7 =T
T 39 o T G W AW 2rem ® AR

fereret fed & =@ 2y em ® | o T @
g 41 & fou fued ofed = et =

CHHAT BT, AfG oW afemt o W gReT 8 2

1%

(a)

(b)

()

(d)

#ma i (03) s ¥ o Wt A Ry

™

U TEE T T S S € | T e
T e % wa | &, ek s o= 1o
95 & | wrg F deeR ww ) St st
M HAY: 5SmSR 126 m e | T H Fw

FAE 21 mE |

64. @i 1 foreedt Srand Ferareit 2 7
(a) 60m
(b) 65m
(c) 68m
(d) 70m

65. S 1 Tk YEIE SAEe Tl § 7
(a) 1980 m’
(b) 2010m’
(€) 2100m’
(d) 2240 m’

66. Foramt =fefiex Fmrm wgeh gan ?
(a) 14450
(b) 14480
(c) 14580

(d) 14850

A — SDC-8-TRD
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67.

69,

70.

The wheels of a car are of diameter
80 cm each. The car is travelling at a
speed of 66 kmhour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275
(b) 4350
(c)
(d)

4375
4450

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm ?

(a)
(b)
(©)
(d)

30 em®
35 cm’
40 cm®

42 cm?

If the perimeter of a circle is equal to
that of a square, then what is the ratio of
area of circle to that of square 7

(a) 22:7
(b) 14:11
ot Vi 5. 1.
(d)y 11:14

ABCDA 1is a con-cyclic quadrilateral of
a circle ABCD with radius » and centre
at O. If AR is the diameter and CD is
parallel and half of AB and if the circle
completes one rotation about the centre
(), then the locus of the middle peint of
CD is a circle of radius

ir
(@)

2r
(b) 3

SDC-S-TRD - A

20

71.

72,

73

21'“3_1.*‘
3

()

3r

W,

—

If 5inﬂ'+cusﬁi‘="‘;—?, then what 1s

sinf) — cosé equal o ?

(1) 0

1
(b) 3

(c) 1
@ 2

If sinx+sin®x=1, then what is the
4
value of cos'x + 2cos® + cos’x 7

(1) 0
(B) 1
(c) 2
(d) 4

A man from the top of a 100 m high
fower sees a car moving towards the
tower at an angle of depression 20°
Alfter some time, the angle of depression
becomes 60° What is the distance
travelled by the car during this time ?
(2) 1003 m
20043
3

(b) m
&
10043

(c) 3

(d) 20043 m
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67.

68.

09,

70.

U T Wedss e w1 = 80 em # |
FR 66 km/gel & afa & 99 @ & | vl
aft 10 fmz # feaet s guf gl s
27
(a)
(h)
(t)
(d)

4275
4350
4375
4450

12 em, 13 cm 3 5 cm wwaTs & EEIE]
et U Frsger =57 g e @ 7

(a) 30cm?

(b) 35cm’

(c) 40cm®

(d) 42 cm?

afe; e g9 o aikfy ww =l i ofomm F
e R, df I o EAEA 6, &9 % SrThe
& ATE A T ERN 7

{a) 22:7

by 14:11

{c}) 7:22

(d) 11:14

B R O ¥ = 7 79 ABCDW
U UgHid AgHT ABCDAR | T80 AB

=W ®, R CDHS wo 7R AB =1
ST © | At 99 ¥ OF I i v oA

TR A R A CDF e fareg 1 Foregen,
forat Prem = v g & 2

(a)

(b)

aly wle

21

71.

72.

73.

) Ew.Er
3

-#3?'
I el
(d) 3

TfE siné + cnsﬂ'=§ 2 at
sinf — cosf forus sTEL & 7
(a) O

(b)

(c)
@ 2

af¢ sin x + sin’x = 18, &

cos’x + 2cos’x + cosx T A T R 7
(a) 0

(b) 1

e 2

(d) 4

100 m 3 TF 7R & $id & us simedt 30°
HAAHA FH I H UF FX HT TAL T SR AT
T G ® | §F 99T 918, AGTHT ST
w‘a“fw%iaﬂ%mﬁmmmﬁr
Tt o Rt # 7

10043 m

20043
3 m

1003

—m
3

20013 m

(a)

(b)

(c)
(@

A - SDC-S-TRD
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" =4. Two men on either side of a tower 75 m (© J3
high observe the angle of elevation of
the top of the tower to be 30% and 60°. (d) ki
What is the distance belween the two A2
men 7
T
i) s . T
(a) 10043 m 78. If A=sin"@ + cos'@® where 058< 5
then which one of the following is
®) ?Sﬁ = correct 7
© 10043 o (@) 1£4<2
i (b) % <A=1
(d) 6043 m
(c) L £A=2
75. What is the value of 16
2 2o S6° — 12349 m!ﬂn?
cosec’68° + sec?S6° — co i Eﬂgsﬁ
(a) © 4 16
(b) % 79, What is cot 4 +cosec A—1 equal to 7
cot.d—cosec A+1
1
(cj 1:3:] 1+cos A
(2 gin A4
76. If 2y cos@ = x sinf and (b) ]_.CMA
2x scef) — v cosect = 3, © o minAd
then what is X’ + 4" equal to ? @ Lesind
(a) 1 | " cosA
cos A
(e} 4
(d) 8 80. Consider the following :
1. sin 1° = sin 1°
77. If sinB+ cosf = H;@ where G{H{E, 2. cos 1° < cos 1°

then what is tanf + cotf equal to? 3. tan 1° > tan 1° :
Which of the above are net correct !
A3 (a) 1 and 2 only

4 (b) 2 and 3 only

(c) 1 and 3 only

|
®) 73 (d) 1,2and3

SDC-S-TRD - A 22
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74. 75 mSA Ush ¢ & ST 706 WS 41 ATEH © 3
ZTER, & 4T & 99 & = 30° 3 60° 4
ﬁﬂﬁ%lﬁmmﬁﬁ%ﬁfﬁ?ﬁ‘gﬁr {d}—ﬁ
ot & 7 =
(a) 10043m 73.H&A=sin104cns“ei,agin£3{§%,
(b) 7543 m dl e dd s o o & 7
10043 (@) 1242
- {c) m 3
3 ® Ss4x1
(d) 604/3 m
(©) 2w
75. cosec’68° + sec’S6° — cot*34° — tan22° 16
y ., ; :
BRI @ 2gasl
(a) 0 4 16
® 3 q9, StAveote A1 g woum &7
© 1 col A —cosec 4+1
@ 2 (a) l+cos A
sin A
76. af¥ 2y cosf=xsing ikt (b) ]__‘3“91‘4_
2x secl — y cosecA=1%, an- A
al ¥’ + 4y oo s 2 7 (@ ltsind
@ 1 cos A
1—sin 4
; (
) 2 ) cos A
(c) 4
'(d) 4 su.ﬁﬂﬁﬁaqﬁaﬁﬁﬁq;

1. sin 1% > gin 1°

77. AE sin@+ cosf= 1443 B, {J-::H*:-;-rl i :: ::::: ]1:
#, @l tan@ + cot@ TreF T 2 7 I 7 A & el A E
3 (a) w1 3k 2
vl (b) F=w 2 AN 3
1 (c) -hadl | 3 3
G B @ 1,2 33
23 " A - SDC-S-TRD
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81.

82.

83.

If tanys———=2 and 0°<x<907,
tan~x

then what is the value of x 7

(a) 15°

(b) 20°

(c) 45°

(d) 60°

If the length of the shadow af a tower is

equal to its height, then what is the Sun’s
altitude at that time ?

(a) 15°
(b) 30°
(c) 45°

(d) 60°

Consider the following :

p, Gos 73" sin 12° cos 18°
sin 15° cos 78° sin 72°

5 C€O8 35° sinll®

gin 55°  cos 79"
cos 28% cosec 62°=1
H o
R e Eli" —sin 59° sec 319=0
oS

Which of the above are correct 7

(a)
(b) 2 and 3 only

1 and 2 only

(c)
(d) 1,2and?3

1 and 2 only

SDC-S5-TRD — A

24

B, A

85,

B6.

pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
each corner of the park is same, then
the triangle ARC, the foot of the pole 1s
at the

(a) Centroid
(b) Circumference
(¢) Incentre

(d) Orthocentre

What 15 the value of
tanl®tan2*tan3%tan4d” . . . ank9" ?

(a) 0
(b) 1

(c) 2

@ 3

The average score of class X is 83.
The average score of class ¥ is 76.
The average score of class 7 is 85.
The average score of class X and Y15 79
and average score of class Yand Z s 81.
What is the average score of X, Yand 27

(a) 815
{b) 805
() 790

(d) 780
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B1.

82.

83.

=2 R 0% < x < H)° E,

Eiﬁ 131'12.1:4' 3
fan™x

Al x &AM 491 8 ?
@y 15°

() 30°

(c) 45°

(d 60°

afy etz &t s f wa Sed
AT & R § W os® wwa W g w6
Faaiy faraa g 7

(a) 15°
(b) 30°
(c) 45°
d 60°

frrerferfas w fomm Siform

. cos 75“+ sin 129 cos IS"_I
" §in15° cos 78° sin 72°

cos 357 B sin 117
sin 55°  cos ¥9°

cos 28% cosec A2°=1

L [+]
3 807 _ in 50° ses 31°=0

3.
cos 107

I A A T wE R
(a) ¥EE 1 ¥R 2
(b) S=et 2 R 3
(¢) el | 1K 3
(d 1,2 3K 3

84. v ity o (F) ABC & It Uss

BS.

86.

¥ SR ger 2 | 9k o ¥ v S
T o 911 ] Al E Y U B,
T EEm ABCH TR I TE FRI R R 7

{a) drgh
(b) iy
(c) S ¥z

(d) ==

tan1° tan2® tan3° tand® . . , tan89° HT AH
TR ?

(a) 0

b) 1

(c) 2

@ 3

AT X F ot o 838 | FeM ¥ 3 sftwa
3 76§ | HAT Z o 3itea A= 85 T | e
X 3 wen ¥ & sitad si 79 €, o wen
Y R Fen Z F ofma 5% 818 | X, Yaik
Z &1 ST 3k FT R 7

(a) 8I-5

(b) 805

(c) 790
@) 780

A - SDC-8-TRD
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87,

28,

89,

90.

For x>0, if a variable takes discrete
values x+ 4, x =35, x-25x-3,x-2,
x+05 x=05, x+5, then what is the
median 7

{a) x—125
(b) x—0:5
(¢c) x+0:5
(d) x+1.25
The median of szet of 9 distinct
observations iz 20-3. If each of the
largest 4 observations of the sel is

increased by 2, then the median of the
new set

(a)
(b)
(c)
(d)

ig increased by 2

is decreased by 2

is two times the original median
remazing Lhe same as that of original

sel

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his

average by & tuns. What is his new

average /
(a) 42
(b) 47
(c) 48
(d) 60

The mean of 20 observations is 17.
On checking 1t was found that the two
observations were wrongly copied as
3 and 6. If wrong observations arc
replaced by correct values 8 and 9, then
what is the correct mean ?

SDC-5-TRD - A
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91.

92.

93.

(a) 17-4

(h} 166

{c) 158

(d) 142

Number of credit cards held by an
individual can be treated as

{a) Qualitative data

(b) Discrete data

()
(d) WNone of the above

Categorical data

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of
the complete class is 72, then what is the
average marks of the girls ?

(a)
(b) 65
(c) 68

(d) 74

64

A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108" angle al' the centre. What is the
percentage ol income from corporate tax
to total funds ?

(8) 20%
(b) 25%
(c) 30%
(@ 35%
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87.

88.

89.

9.

x> 0% form, af v ==, fafaws v x + 4,
x—35 x-2-5 x-3 x-2, x+05,
x—0:5, %+ SeAT R, O ATEhHT Fa7 & ?
(&) x- 125
(b) x-0-5
{c) x+05

(d) x+1:25

9 T WevTT & FH=Ad ol AT 2058 |
afy w7 & 4 7= 92 D # F we
Wi 2 st A =g A e 41 9 weee 6
AT

@ 28T e
(b) 28 = W @

(c) T wfer &1 g 2

(d) 7 ag=aa & wieE & e f
el ®

s faede faandt 1 10 wlimt F1
v a8 | wwedt Tt § s
108 % =, foraet sae sitae 677 4 =g
T | FHE AT AT TR 7

(a) 42
(b) 47
{c) 48
(d) 60

20 VETOT} T WET 17§ | A wEA U AT
o T T T et w0 (e 9) 3 S 6%
&Y ¥ Werd FART T 97 | Al T S
I T T8 A 83K 9@ fa W €, @t
e AT =R ?

27

91.

92,

93.

17-4
16-6
15-8

(a)
(b)
(c)

(d 14-2

reit wafRn g <@ o A e e )
e 1 fom v H W s HRAT ® P
(a) T T

(b) Tafaes g

(c) "afifa aw

(d) s ¥ @ i

100 FErnféfat it o wen # 70 w25 2,
o v fawg g &% 758 ) afe
Hegul et % ot o 728, 9 gl &
st o Fram € ¢

@) 64
(b)
(c)
(d)

64
63
68
74

% A, et @ i gw il %
it wit frftwt & fafia it & g
ST 8 | T R fore geed v
Fordre &=, S T 108° =1 197 =TT 2 |
wAt A g iy & fmoaw
B IGEIG R

(a)
(b)
(c)
(d)

20%
25%
30%
35%

A — SDC-S5-TRD
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94.

95.

Consider the following statements :

1. The classes of type 15-19, 20-24,
25-29 etc, are cxclusive classes.

2. The classes of type 15-20, 20-25,
2530 etc. are mclusive classes.

Which of the ahove statcments isarc
correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Meither 1 nor 2

Suppose the class interval 10-15 has

frequency 30, then what is the frequency
density of this class interval ?

(a) 2 .

k) 3

{c) 5

{d) 6

Let 5 be a set of first ten natural
numbers. What is the possible number of
pairs (a, &) where a, b e Sand a = b

such that the product ab (>12) leaves
remainder 4 when divided by 12 ?

(a) 4

(b) 6

(e) 8

(d) 10

What is the remainder when
13*+14°+15"+16° is divided by 29 7
(a) 8

(b) 5

SDC-5-TRD - A
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08.

99,

100.

{(c) 3
(dy 0
What is the difference between the sum

of the cubes and that of squares of first
ten natural numbers 7

(a)
(b)
(c)
(d)

2280
2640
3820

4130
A motorist travels to a place 150 km
away at an average speed of 50 lan/hour

and returns at 30 kmvhour. What is the
average speed for the whole journey ?

(a)
(b)
(c)
(d)

35 knmvhour
37 km/hour
37-5 km/hour
40 km/hour

If x+ =2, then what 15 x

1+L1
24-
3

equal 1o 7

(a)

(b)

(c)

(d)
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94.

95.

96.

97.

Ffetiaa waat w fam Fifimo .
1. 15-19, 20-24. 25-20 anf w&R
& if, Aqafeta =i ¥ |

2. 15-20, 20-25, 25-30 afe wHR
& =, aiaaE =9 ¢ |

Iwden # & F A/ e w2/ ¢

(a) &1

(b) o 2

() 1 3k 2 75mt

) FLTE 2

ait wifon f& o smwe 10-15 &
FRARAT 30 B, o W I e &
TRARAT T T & 7

(a) 2

(b) 3

(¢} 5

d 6

W g £5 S5, o 7 el wemsit @
U WA © | g1 (a, b) & dw1fad wem
e, TWabecS TR axhTH TR E R
TS ab(>12) w128 Fafm +=
R 4 AT R 7

(a) 4

™ 6

(c) 8

(d) .10

137 +14°+15%+16° =1 29 @ famfoe fadt
S R R F AT R 7

(a) 8
b) 3

29

8.

99,

(e) 3
@ 0

WA GH Sl HETE & HAT % G a
Tk AT F TR o S 1 A R
B 7
(a) 2280
(b) 2640
(c) 3820
(d 4130

T Hie Tres 150 TRt e i
gran 50 faft /a2 ft sfma ofs G T 2
3t 30 fopeft /2 oft fy & e & | wepei
aran % oo sitee wfa frae & 2

() 35km/gz1

(b) 37 km/g2
(c) 375 km/=T
(d) 40 km/¥
100, 3fg x + 11 =28,
1+—'-'"I'
24—
3
at x e R 2 |
7
(a) 10
13
(b) 10
11
(c) ﬁ
17
(d) 1

A - SDC-5-TRD
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SPACE FOR ROUGH WORK
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" . 1 SDC-S-TRD e gieE ang;rm
T qiedant
TferE it
g ;I ATE | E“Thl‘: Tog
' TR

1. wHET WRET g % Ao W, a gE wiem afere f ogem smm w | oo R G
T, WET AT EY BT U5 A=y wowtar annfr 7 g | A v B, o @ wh whww g A wm A
2. =T ear v fE OMR Fwe-wsre &, gfa wam o, I T i v qfems S AL B, C
D =1, s & v fare firet s foreifa & wed st emg W o frdeeh wefeam fr ) feh
ity ot =/ Frmnf O ety # gww-vms fee s faan sma
3. T viem T WA F i g weew § e
AT FTHATE T @ | T e 9 S e
= ford |
4. o i S 100 veny (n) oo # | we vt Rt ok ot 191 o v @ | Wl e
3 = g (voe) R e € | o R O g A 99 o, B o g W T e awd @
afy amas v Al R o @ et verer w8, 9w wege F afa S ) wEtem @ | e
ety & oy w uw B v g E '
5. IR AT g wegeR e @ R T SeR-ueeE T f At e € | aworae i fag g fad A |
6. Rt wel % o e
7. TEd e T sy wdiem gferen % fifing wAii & g ST-TE W aifET wo uE o, Fdl wdy
T & A i agiel & agun g9 fe se-us § a3 E )
8, 7Y AT WA WOl w1 SOR-0ES 3 WA A7 991 T & WA W e gew-vas Atfiere = i
¥ | st s wra e qfE o S R A ¥ |
9, =4 W F fog 9w W gfee & sea | dem |
10, e St & fao gve
aEfes nyA-ul 8 FeiEaw g e g wem e % fem ve fay s
(i) W e forn 9 3 o € | Iufieer o vl wse S T fam e o e ae & fey
7 2 form fg o o=t = ve-firerd oo % v F W W | .
(i) afg Frd T uw A A I 3 R, A W@ wem Fee w0 S, T iy T e A
T I we 2, R it 9w we & fo awdemran @ el axe 1 e G s |
(i) 7 Softeaw g = A = e e s @, Hwhanﬁaaﬁ*mﬂﬂ-ﬁ‘fﬁmm—'%-ﬁm
et = foo g gem w9 fom s |

WA AF ATTHT TE THUT JIErdr Gtad St 7 FE 00 79 7 7 @i

Note : Engiish version of the instructions 1s printed on the front cover of this Booklet.
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